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(3 pts) Suppose that each year, Berkeley admits 15,000 students on average, with an SD of 5,000
students. Assuming that the application pool is roughly the same across years, find the smallest
upper bound you can on the probability that Berkeley will admit at least 22,500 students in 2019.
(Hint: you should be comparing two possible bounds.)
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Stat 134

1. A list of non negative numbers has an aver-
age of 1 and an SD of 2. Let p be the pro-
portion of numbers greater than or equal to

31 2. To get an upper bound for p, you should:
l

/

M\ % a Assume a normal distribution
ct 1= \; K'L@Use Markov’s inequality
¢ c Use Chebyshev’s inequality
\
T d none of the above

Markov E(x)/a, so the bound = 1/5. Chebyshev k = 2, so the
bound is 1/4. Markov bound is lower/tighter, so we would prefer

b the Markov bound.

| don't understand the limitations of each inequality
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1. X is nonnegative random variable with E(X) =

3 and SD(X) = 2. True, False or Maybe:
|
P(X? > 40) < 2
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